&> MATHDICE CI LT

SOLUTIONS
ADVANCED: SET A

ADVANCED - 1A

Target Pins Target Pi Your Equation

(2*3)+2=8
OM@ & ervea-s
Can't Be Hit
(272 3)*2=16
(322)*2=18

@ @ (2+3)A2=25

Scoring Numbers

ADVANCED - 2A
Target Pins arget Pi Your Equation

(2*4)+ 3 =11
(273)+4=12
(2+4)*3=18
(2+3)*4=20
Can’'t Be Hit
(3722)*4=236

Which Target cannot be hit? E

Scoring Numbers
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&> MATHDICE CI LT

SOLUTIONS
ADVANCED: SET B

ADVANCED - 1B

Your Equation

(3*6)-5=13
6-3)*5=15
Can’'t Be Hit
5A(6/3)=25
(6/3)A5=32
6A(5-3)=36

Your Equation

(6-4)*5=10
(4*5)-6=14
(4*6)-5=19
5A(6-4)=25
Can’'t Be Hit
(6-4)A5=32

. 45
Scoring Numbers Which Target cannot be hit: m
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